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1. Ay Ay
(1) $8% &% (n)<15p
(A &)t =(HE % EE% £)tx(0.75 + 0.25x t/n)
(2 $##83 &% (n) =155
a.f t<15 - (j2X &)t=(%¥ § @& & £)tx (0.75 + 0.25 x t/15)
b.d t =15 (B9 &)t=(FHE § BEH &)t
2. A HE
(f2 &)= (5§ @85 &)t
t CFHESEER on  EH

(729 £ N=(F8 § ©E & &)t
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1. s34 mp
(1) $8%#% (n)<10p
(fa9 &)t =(%5 % EE 4% £)tx(0.85 + 0.15x t/n)

(2 8% 2% (n) 210 p*
a.§ t<10- (f25 &)t=(%E § @& £)tx(0.85 + 0.15x t/10)
b t210 (29 &)t=(FHE W EFm &)t

2. WP WAL
(%5 &)t= (8 § B2 % &)t
t P REGEER D &Y

(129 &)t= (W ¥ § EEF £)tx (1-0.01x (n — 1))
t I RHESEER on o EY

(2 &)=(FEH EEgF 2)tx(1-K) ~Kt: % tiREERRE 97 * F
K1=5% > K2=4% > K3=3% > K4=2% - K5=1% > K6=0%

1. RHSHEAER t<=3pF
(A9 &n=(FEH EEF &)X (LK) Kt: S timEEREOE * F
K1=2.5% > K2=1.5% > K3=1%

2. RHEHEWHEER t>3FF
(fRx &)t=(EH @®g £)t

1. BHESEER t=1pF

(125 &)= ("5 @8 % £)tx0.96
2. BREGCHER 1<t <4 pF

(f2 £)t= (%5 % E % F £)tx0.9871
3. WHEHER 4<=t<n-1lp

(2 &)t=(FE§ E#F £)tx0.996
4. %HGiEER nl<=t<npF
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(29 &)t =(F5 % e85 £)tx0.9997
5. RHE s BER t=npF

(f2x &)t =(FE @' £)t

t i RHEGEER  n o EY

1. wHEE@®ER t<nlpt

(125 &)t = (RE § @8 & £)t x (1-0.01x(n-1))
2. RHEWHER t>=n-1pF

(F2 £)t= (%8 § £F & £)t

t P RESEER n AP

1. mESiEER t<=1pF

(o én=(FE iy e®F £)tx091
2. WHCHER 1<t<=2pF

(29 &)t=(FEH LEF &)t x092
3. BHEGHEER 2<t<=3pF

(2 é&)t=(FEH 8 ¥ £)tx0.93
4, wH SiEER 3<t<=bpF

(2 &)=(FEH EEHF £)tx0.94
5. ¥ CiE R 5<t <=7 pF

(2 &)t=(FEH e®EF £)tx0.95
6. FHSWHER 7<t<=n-lp

(29 &)t=(FHE§ £FF £)tx0.96
7. RHEESHEER t=npF

(g &)t=(w8p g st

t T RESEER on  AY

1l RHEGFEER t<=3pF

(A &=(rH4 i3 EEE £)Xx0.95
2. WH S ER 3<t<npF

(faxy &)t =(E H E® 4% £)tx0.96
3. RHEEEER t=np
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T\

N
=

(fFHa)t=(FE W\ Efg )t
t CRHESEER n &Y

1. a3 HEFp

(fex &) =(E % E® 4 £)tx0.75
2. BRI

(o gn=(FrE§ eg &)t

t i RECEER

1. ZEoiEER t=1p

(Ao en=(%% % E8n £)Xx075
2. mHCHER t=2pF

(5 &)t= (¥ % @8 % £)tx0.90
3. mHCiHEER t=3p

(B &)t =(iR¥ % E¥ % £)tx0.95
4, BHSHAER 4<=t<=HpF

(B &)t =(iR¥ % E¥ % £)tx0.99
5. RHSHEER t>=6pF

(R &) =(FrE§ E8F &)t

t o RESEER

1. AppRp

()% 57 = #H=7 p*
a WHGEAER I<St<6pF - (RO &)t=(FE R EEHF £)tx0.75
b. mH GEER 6<=t<7 P (RO &)t=(FEH EEHF £)tx095

(2)% #p & P =10 p&
a. RHENSEER I<st<TP (RO&)=(FE§ EEHF 2)tx0.75
b. #ESEER T<=t<8pF » (RO&N=(FE K EEH £)tx0.93
C. WHGHER 8<=t<9pr (RO aN=(FE Y EHEH £)tx097
d FESEER O<=t<10pF (RO &N=(FEH EEH £)tx0098

(3)% w3 = H=20 p*
a. WH AR I<st<7 @ (RO&)N=(FEH EEHK £)tx0.75
b. mH GEER 7T<=t<9pF (RO &)t=(FF§ EEHF £)tx0.87
C. WHEGHER 9<=t<llpr > (RY&)N=(FEH BEH £)tx0.92
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d FHESEER 1I<=t<I3 P (fFH&N=(FEH E8% % £)tx0.95
e. RHESKEER 13<=t<I5pF » (29 &N=(FE§ EFF £)x0.98
f. RHESE#ER 16<=t <20/ > (2 &)t=(FHE§ eFu &)t
2. By s
(2o &)t=(FE § EfFa &)t
t o RECEER

1. wEciEER t=1pF

(B &)t =(iR¥ % @8 % £)tx0.75
2. RHESHER t=2pF

(75 &)t = (%5 % @2 % &)t x0.90
3. WHE cigER t=3pF

(Ao &n=(%% % E8n £)tx095
4, RH CiEER 4<=t<=Hp

(25 &)t =(%H i%' B E £)Xx0.99
5. RELEER t=6PpF

(125 &)t= (5 ¥ &8 % £)tx0.9975
6. RHECHEER t>=7pF

(R &)=(FrE§ e8F &)t

t D FHE SiEER

1. BHESEER t=1pF

(fFxan=(FE Wy e®y £)tx0.75
2. l-‘i'—ﬁf?':ﬁ-&f{ t =2 pF

(25 &)t =(rH #EfEE £)tx0.90
3. l-‘i'—ﬁf?':ﬁ-&f{ t =3 pF

(25 &)t =(rH B EfEE £)tx0.99
4., ®wHGiEER 4<=t<=5pF

(¥ &)t=(%E % E®g £)tx0.995
5. l-‘i'—ﬁf?':ﬁ-&f{ t =6 pF

(¥ &)t=(FE % 5®iF £)tx0.9975
6. WH SWEER t>=T7

(725 &)t = (%8 i £ 4% &)t

t D RHE SRR
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(g an=(rdEp adg £)tx(1-Kt) " Kt: $tHREERfE 95 * F
K1=5% » K2=4% » K3=3% * K4=2% » K5=1% » K6=1%

=

HSEER t<=6pF

(fRO&n=(FEH EEg £)0tx LK) Kt: ¥ tFEERfEOFT* F
K1=2.5% > K2=1.5% > K3=1% » K4=1% - K5=1% > K6=1%
FHSHEER t>6F

(far&)t=(FE § EfFa &)t

wH &R 1<=t <=5 pF

(B &)t =(R¥ % @8 % £)tx0.75
wHTEER 6<=t<=9pF

(Ao &n=(%%§ &8n £)tx099
wH SiEER t>=10 pF

(R &)=(FrE§ e8F &)t

t P RHESEER

wHGHER t=1pF

(l2q &)t=(HE§ @£ 4% £)tx0.75
wHGHEER t=2pF

(f2 &)t= (¥ § @£ 4% £)tx0.90
wHSEER t=3FF

Ay &at=(FE % e®y £)tx0.95
FHSEER t=4PF

(l2 &)t= (% % @£ 4% £)tx0.98
wHSEER B<=t<=6

(l2 &)t= (¥ § @£ 4% £)tx0.99
wHSEER T<=t<=8pF

(f2xy &)= (5 % @ %4 £)tx0.995
wHEiEER t>=9pF

(2o &)t=(FE § EfFa &)t
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t P mEEEER

1. mH S EER t<=lp

(faxy&n=(FE %4 £)tx091
2. RHSWHER I<t<=2p

(2 &)=(F3§ 8% £)tx0.92
3. WHEEWHER 2<t<=3pF

(2 &)t= (w8 % %% £)tx0.93
4, wHLHER 3<t<=HpF

(Ao en=(%% % E8n £)tx094
5, RH T ER B<t<=T P

(25 &)t =(%H i%' E®E £)Xx0.95
6. wHTHEER T<t<=9pF

(f2 &)t=(nH % £ % £)tx0.96
7. RHEEER O<t<=10pF

(2 &£)t= (%5 E¥ 4 £)tx0.97
8. mHxwHER 10<t<=11pF

(125 &)= (%5 % @8 % £)tx0.98
9. FEGHEER t=npF

(R &)=(FrE§ e8F &)t

t CFRHEHSEER  n A

1. RHEESHEER I<st<=4 pF

(fFxa)t=(FE % Efig £)tx(0.94+0.01 xt)
2. RHESWHEER b<=t<=12 pF

(25 &)t =(rH l% By £)tx(0.99)
3. WHGiEER t=13p

(X at=(FE L afyg s)t

t RHESEER on EY

1. BH CEER t <8 pF
(72 &)t= (w5 § ® % £)tx (0.91+0.01 x 1)
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2. RHESW®ER B8<=t<np

(fexg &)= (5§ %4 £)tx(0.99)
3. WENSEER t=np

(fBr &) =(FE§ E8&g &)t

t P RESEER oD EY

1. FES®EER (=1p

(29 &)t=(FEH 5Eg £)tx0.75
2. RHETWHAER 2<=t<=3 pF

(724 &)t= (¥ i @2 % £)tx 0.99
3. REETHER t>=4pF

(R &=(FrE§ E8F &)t

t D FH SRR

1. Mg P

(2 &)t=(F5§ e84 £)tx(0.92+0.08 x t/n)
2. My st

(g a)t=(wdp ey st

t P RHESEER n o EY

1. BRHESWHER I<=t<=3pF
(fFxan=(FE Wy e®y £)tx0.75
2. RHETWHER 4<=t<=6pF
(fFx&)t=(FE % e®y £)tx0.99
3. REGFER t>=T P
(735 &)= (5 % @8 H &)t
t RHECEER

1. RE5EER t=1p
(72 &)t= (¥ § &% £)tx0.75
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2.

FHSHEER (=2

(A5 &)t=(xrH4 l%_ BEEE £)Xx0.90
H i R 3<=1<=6pF

(124 2)t= (%X i @35 & &)t x 0.99
wHSEER t>=7pF

(R gn=(FrE§ g &)t

t D RHSEER

wHSEER t=1pF

(34 &)t= (%8 § £F& £)tx0.75
wHEwER t=2pF

(25 &)t =(%H i%' E&H £)Xx0.90
THCWEER t=3pF

(29 &)t=(FEH 5E% £)tx0.95
FHTEER A<=t <=6

(f2 &)t=(H % £ % £)tx0.99
wHSEER (> P

(2 &)= (RE § £ % &)t

t D FRHE SEER

H B ER t<=1PF

(f2 &)t=(nH % £E% £)tx0.75
wH e R 1<t <=2 pF

(25 &£)t= (%5 % @84 £)tx0.90
H SRR 2<t<=3pF

(29 &)t= (5 % @ % £)t x 0.946
FHSiEER 3<t<=4 P

(25 &n=(%H u%‘ B &% £)tx0.958
wH wipE R 4<t<=b5pF

(725 &)t =(im¥ % E¥ % £)tx0.970
FHGEER 5<t<=6pF

(29 &)=(FEH &4 £)tx0.982
wH SiEER 6<t<=7 P
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(2 &)t =(%5 % 8% £)tx0.992
8. WHNHEER 7T<t<=np
(fRa&)=(F5 % BEag £)t

t :RHSEER D &Y

1. RHESEER I<=t<=3pF

(24 &)t=(®H § £EF &)t x0.75
2. RHETWHAER 4<=t<=HpF

(fexg &)= (%8 ¥4 £)tx0.975
3. WHSHEER {=6pF

(A5 &)t=(rH¥ Y E®E £)tx0.99
4, BHSHER t>=T7T P

(12 &)t = (%5 § G F % &)t

t:RELEER

1. BRHESEER t=1p

(2 é)t=(FrEH E%s £)tx091
2. REHEWHER t =2

(2 &)t=(rH i B8y £)tx0.92
3. FHEHEWHER t =3 @

(2 &)t=(rH [ £)tx0.94
4, FHEEER t=4pF

(25 &)t =(rH B EfEE £)tx0.94
5. l-‘i'—,%frﬁ-&f{ t =5 pF

(A &)t=(xH¥ e B3 £)tx0.9852
6. l-‘i'—ﬁf?'@-&f{ t =6 pF

(25 &)t =(rH B EfEE £)tx0.99
7. RHESEAER t=7pF

(25 &)t =(rH 1% BE&EE £)x0.9970
8. RHETWHEER t>=8F

(fRa&)=(F2E i} BEsg )t

t D RHE SRR
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1. BHESHEER t<=1pF

(135 &)t =("E % 8% £)x0.75
2. BRECHEER 1<t<=3pF

(R &n=(F5 % EE% £)tx08
3. WHETHAER 3<t<=4pF

(2 &)t=(FEH &84 £)tx0.85
4, wHECEER 4<t<=5pF

(2 &)t=(FEH E%HF £)tx0.95
5, %HgiEER 5<t<=6pF

(2 &)=(FE§ %4 £)tx0.97
6. FHGiEER 6<t<=7pF

(135 &)t= (%8 % @8 % £)tx0.997
7. RHESEER T<t<=10p*

(29 &)t =(%E 1§ 284 £)tx0.999
8. nH £ R 10<tpF

(g &)= (8§ @y st

t D RHE SRR

1. FHEGHER I<=t<=bpF

(g &)t=(¥p Eefny £)tx0.75
2. WH GiEE R 5<t<=6pF

(2 &)t=(FEH e8 % £)tx0.984
3. RHSHERE 6<t<=T7PF

(faig &)= (¥ @Fn £)tx0.997
4. RHTEER t>T P

(729 £)t= (WE & EEF &)

t D RHESEER

1. §8%&cd=4p
FHGHEER (<=3
(f29 &)t=(FE§ LEH £)tx0.75
RHCHEER 3<t<=4pF
(fF9 &)t=(%EHEEE £)x08
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T\

N
=

FHSEER A<t<=5p

(faa&n=(F% % &EE 4% £)tx0.85

H giEE R b<t <=6 P

(724 &)t= (%5 % E2% % &)t x0.984

H B E R B<t<=T P

(724 &)t= (%5 % E%% &)t x0.993

wH S ER L7 P

(o &=(FEHefg i)t t @ FHESEFER
2. M EH=6pF

wHGEER t<=5pF

(12 &)t= (5 § @& £)tx0.75

wH B E R 5<t<=6pF

(2 &)t= (%5 & @& £)tx 0.976

HSEER 6<t<=T7 P

(125 &)= (5 % @8 % £)tx0.988

wHCEER (ST P

(FRO&n=(FEHEEG &) t @ RELHEER

1. BHSEER t=1pF

(B &)t =(iR¥ % EH % £)tx0.75
2. WHEEER t=2pF

(12 &)t= (%5 § @& £)t x 0.90
3. RHETHAR 3<=t<=HpF

(25 &£)t= (%5 i E¥ & £)tx0.985
4, wHSEER t=6p

(25 &)t =(im5 % E¥ % £)tx0.99
5. WHSEER t>=T P

(e &)t=(mE i E i &)t

t o RHSEER
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1.

wHSEER I<=t<=bp

(13 &)t =(R5 % 28 % £)tx0.75
FHSEER t=6FF

(725 &)t= (¥ % © 8% £)tx0.994
EHSEER t>=T
(fexy&)t=(mE § EF & £)t

t o RESEER

mHTEER t=1pF

(f25 &)t=(xH i3 &y £)tx0.90
FHSEER t=2PF

(722 &)t= (%8 § % § £)tx 0.90
wHGHEER t=3pF

(g &)t=(¥ § Efin £)tx0.94
FHESHEER t=4 P

(ﬁ’i 5 $)t: (13-_%5 l%l [t 2 é;)txo.94
wHSiEER t=5pF

(724 &)t = (%5 % @8 % &)t x 0.977
wHGHEER t=6pF

(f29 &£)t= (5 § @£ % £)t x 0.982
FH SEER =T

(724 &)t = (%5 % @8 % &)t x 0.998
FHGHEER 1 >=8pF

(B &)t =(iR5 % @ 8% &)t

t D RHE SRR

wHEEER t=1p
(29 &)t=(FE§ EEF £)tx0.75
wHEEER t=2p

(29 &)= (%HE % £EF £)tx0.90
wHGEER =3

(29 &)t = (%5 % ©FF £)t x 0.946
wHGEER =4

(2% &)t=(%H § E# % £)t x 0.958
wHGEER =5

(f2% &)t= (%5 % £ § £)t x 0.968
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6. RHSEER t=6P

(2 &)=(F5E iy e®F £)tx0.98
7. BHEEER t>=7pF

(e gt=(rEH e &)t

t P REGEER

1. %HoEER 1<=t<=5pF

(1359 &)t =8 % 28 4% £)tx0.75
2. WHEHEER t=6P

(2 &)=(FEH e®EF £)tx0.99
3. WHSBEER t>=T @

(g &)= (8§ ey st

t P RHESEER

1. %8 5iFE Rk 1<=t<=5p¥

(13 &)t =(in2 % EH % £)tx0.75
2. RHXEER t=6pF

(135 &)t = (5 % ¥ % £)tx0.987
3. WHEXEER t>=T7p

(g &)t=(w8p ey st

t P RHESEER

1. %H 5®E R 1<=t <min(n,15)p*
(2 &)t=(FEH EEF £)tx0.75
2. &H giEE R t>=min(n,15)pF
(fFr &)t=(CFrE 8§ &)t
t CRHESEER on &Y

1. FHCiEER t<=2p
(faxy &)t =(5 % @® 4 £)tx0.90
2. wHEEER 2<t <=3 pF
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(fa &)t=(%E % E8n £)tx0.93
3. HCiEER 3<t<=4pF

(fa &)t=(%E§ E8n £)tx0.95
4, %H LiHER 4<t<=HpF

(fa &)t=(FE§ E8H £)tx0.97
5. WwH 5iE#E R 5<t<=6pF

(fa &)t=(%E % E8n £)tx0.99
6. WHGiEER 6<t<=7pF

(125 &)t= (5 % @8 % £)tx0.997
7. RHSiHER T<t<=10pF

(125 &)= (5 % @8 % £)tx0.999
8. WHGEER t>10p

(frrgt=(FE § EfFu &)t

t o REGEER

1. BHSHEER I<=t<=2pF

(fFxan=(FE Wy e®y £)tx0.75
2. FEHESWHER t =3

(ﬁ’q: VENW=(%H l% B8y £)tx0.85
3. RESEER t=4p

(2 é&)t=(FEH eEF £)tx0.95
4. wH S~ R 5<=t<=6pF

(724 &)t= (%5 @ @ % &)t x 0.9895
5. RHgiEER t>=7 P

(22 &)t =(mE @8 &)

t @ RHSEER

1, BHSEER t<=6p

(f2% &)t=(x4d B EfEE £)tx0.75
2. BHEGEER 6<t<=7pF

(¥ &)t=(FE % E®g £)tx0.982
3. RHEWER T<t<=10p*

(¥ &)t=(%E % E®g £)tx0.992
4., wH ciEER 10<tpF

(725 &)t = (%8 i £ 4% &)t

t D RHE SRR
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1. RHESFEER 1<st<=2 p&F

(f2% &)t=(x4d I% BEEE £)Xx0.90
2. RHEWHER t=3pF

(f2% &)t=(x4d i3 BEEHE £)Xx0.94
3. RESEER t=4pF

(%5 &)t = (i § &2 % &)t x 0.945
4. FHSEER t=b5pF

(f2% &)t=(x4 Y E®E £)tx0.98
5. RESHEER t=6pF

(125 &)= (5 % 8% £)tx0.985
6. FHESHER t=7pF

(725 &)t = (%5 & @28 % &)t x 0.998
7. RHEEER t>=8pF

(4 £)t = (%3 EF § &)

t @ RHESEER

1. RHESEER t=1pF

(72 &)t= (5 § EEF £)tx0.75
2. RESBER t=2p

(729 £)t= (FE § 8% £)tx0.9
3. RESBEER t=3p

(729 &)t= (5 § ©E# £)tx0.95
4., wHSEER t=4pF

(72 &)t= (5 § &% £)tx0.977
5. wHSBEER t=5p

(72 &)t = (5 § &% £)tx 0.982
6. WwH LR t=6pF

(72 &)t = (5 § &% £)tx 0.986
7. RESBER t>=Tp

(2% &)t = (FE & G2 % &)t

t o RESEE R
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1. ZHEGHER 1<=t<=19 p*

(f20 &)0t=(%5 &% @8 % £)tx(0.75 + 0.25x t/n)
2. RHswER t=20pF

(135 &£)t= (%5 % @% % £)t x0.99
3. BHEKEER t>20pF

(fe gt=(rEH el &)t

t P FRHESEER >on

1. RECHEER t<=6pF
(fRO&n=(FEH EEg £0tx LK) Kt: ¥ tFEERfEOT* F
K1=5% > K2=4% » K3=3% » K4=2% > K5=1.4% > K6=1.1%

2. RHEHER t>6pF
(o gn=(FrE§ g &)

1. ®H5EER 1<=t<=10 ¥

(2 &)t=(FEH E8%H £)tx0.75
2. RHEEER 1ll<=t<=20 P

(725 £)t= (%% % @4 £)tx (0.9 +0.01 x(t - 11))
3. RHELEER t>20p
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